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2. (20 pts) Gwcﬁ___u_’mu
4 oadions for stinet planes (besides the zy- LEE
M}Mw 5 nary e zy-plane) in R* whose

& 3\(*‘4\}4‘52:8 ‘;5 PMMQ"Z;O
3X f"‘l’3.+ L7 = g

A"F 25(3, ‘3’(\-'5*3—:8/

3. (25 pts) Let P be the plane given by 2z + 3y — z = 15 and let P, be the point (1,2,4).

n-:
(a) (10 pts) Find parametric equations for the line which is perpendicular to P and
contains the point Fp Po.

- BE 2., 2, ~17
BN - (5,2, - 1DE + 1,3, 1)
§ich) = |+t

Yyt - 2+ 3t
Z2CH= n -4,

7L/(b) (15 pts) Fin ,t_em&om the point Py to the plane P ““SW?/'. 1S oh ANt badk

A\_Po PoQ )\n 0‘( \S‘?O\%e’ |

e = A& 371) ey
Tad) = (% y,2) = N33, ~))

[ (=X Y= [—ad—30-aN+3( & :

S z ey =Wh =4 =) =\5
=2 = BT 4% +4 =\S
{4 = ’l‘\?

-l:’ G—b‘ﬁ. o

= 2
| P = |l CT", g, )H ,\P? PR
= s L T —
= - 4 It
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4. (10
pts) F—’_EQ a parametsi
to ha;
. za,tlon of the ellipse 2 + 3 =1 whi
= 1 which has been translated

r&t) e
Cﬁ‘/\r)’-wsb A
e, - Suphe Y
@ sk, ¥\, Af;aswx’c».gﬂ s
e . cseU
ws b
RS U Wt
T | okt sk =\ v

o
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5.
: (25 pts) Consider the curve r(t) = (t2,2t,In(t)).

(a) (10 PtS) Flnd the tangent line to r(t) at t =1.

P‘ € g8 Zc\ﬁv’\—c\ﬂ AT <
B oo, 2l s Gl D)

Yangount Vinc -
B - Gl 2. D). sl sl
- Q at X ,O
() Ak >t, *©)
i el

d the arc length of r(t) from t =

(b) (15 pts) Fl



